HH -1 2018/6/1 FHIR R E]
B =R R RSy
X2 24 + Ay TR ALk TP R
TS [T - fE T - B AE AR T R B fethh 4 faipikE L s
Bf | %A 1hL 20L 3fL AL 5{if 6L ThE 8L
smslenin | 100m lzm EHE) 11.83 (-3.4)[F —R(2) 1216 (-34)[3#0 BH*©) 12.24 (-3.4)| LH FE®) 12.36 (-3.4)[EF —B&®3) 12.40 (-34)| 2 =mi(3) 1247 (-34)|23# BEEQ) 12.58 (-3.4)
BB/ TR|FAME- /< BETH TR|&B -/ BAE ERS BRAE ERS AT FmenH BAE KfH
satn | 200m Bk BRKQ) 22.99 (+0.4)|AT FEA®B) 2362 (+0.4)|lLZM EHEQ) 23.78 (+0.4) PR —R(2) 24.06 (+0.4)| 2 WH(Q) 24.30 (+0.4)[ L4t BRE®Q) 24.30 (+0.4)| 5% 18K @) 24.74 (+0.4)
BB/ TR-GR[/NF&-/NF&H TR-GR|&B- /M TR-GR|mMAE-/NBHETH TR|AB - Zza® TR(FEAE &R+ TR|&B - fE2M
satn | a00m Bk BRKQ) 51.69|fEx EAQR) 53.52|B8 @LTERR) 55.23|L HIRA(3) 55.42F 5 BHQ2) 56.56 XMk FEHT(3) 56.81(8E%F HA(2) 57.47|HEif BE2) 58.08
-SR] TR-GR[/NF&-/NF&H TR|FE&E- K+ TR|&AB LT TR{/NFH - INFA S BB L AAE RIRH BB P
satn | soom iR BEEG) 21111 IR BEREQ) 2:12.98|480 3CHEQ) 2:1343| 2% 1HHEQ) 2:14.14|1ILE FIHEG) 2:16.18|1R3R #EA(2) 2:16.42| =B JRHE(2) 2:16.95|3A50 SEBE(3) 2:17.10
MAB- B BB Lt INFH-EH INFBINFBP BB KHH #F- /M BB LT MAE /S
611 | 1500m 8 XHEO) 4:24.26|H5E HEEQ) 42461 3EE KEQ) 4:25.66|EiE REHEG) 4:2577|H R BER) 4:25.95| 2% {6#8(3) 4:26.47[ILA RER(3) 4:29.03()Il £ E#®M) 4:29.04
INFBINFBFR TR|EA&E- R TRI/NF&-INFB P TR[/NF& - INF AP TR|E&E-/\iEh TR|/NF& - INFAF TR|#B- L TR|/NF&-FNFAF TR
ea1n | 3000m BER K1) 9:33.14|4EE KE(Q2) 9:41.83|HEE FHHEQ) 9:51.41|iF:8 K&EQ) 9:55.96 |/t KHH(3) 9:59.11| 85K R AKER(3) 10:00.09|JIl £ E#(3) 10:00.37| W& FHEQ) 10:21.81
BAE ERS TRI/NF&-INF&HP TR|F#&E ERF INFBINFBP INFBINFBP INFB-FEH INFB-BNFHFR BB K
eatn | 1iomn Bafiz EKQ) wi15.22 (+2.6)[iEL KFQ) w15.40 (+2.6)| % HEQ) w17.87 (+2.6)[/NA] EF(2) w18.50 (+2.6)[[EHR EA(2) w19.18 (+2.6)| =% BEMI(1) w19.63 (+2.6)[[i0 EX(2) w20.87 (+2.6)
BAE-ERS BTN AT -FeBH BAE ABETH b bR Ll FAE - ABETH INFB-BNFHFR
= Rr RN 45.00|/NF&-/INFAH 46.76 (B HEBAF 47.14|FRB-1EIRF 47.48|FRE-/\EH 47.75|FfRE - KFH 4787|/NF &P 48.53(FafB - ABETH 48.54
#O FEFEEQ #iE RA®G) kil #(3) EH HREQ) B AE;EG) B ®E®) BT HREQ Pk —R2)
611 F | 4x100mR | &k BEA(Q) TR-GR [T BEAQ) R B HEH) R T FEEQ) R WE #&HE) R B Q) - hF BRE3) BTEH K22
BD RFR) TR BEQ F2 HREQ) B —HEQ) MiA BE2) 2% BEQ) Eig AKRQ) i EQ2)
Wz #Q) T EENE3) 2 m=hHE®) Buftz &K@) HE+m BEHQ) BY fERE) A LHEEG) ZR KFEQ)
eatn | LT G[&)) 1.68|E4E 1&H1(3) 1.62|FE KZEQ) 153|282 H/A() 1.40| E&F &R 1.35
BB FeaH TR|AAM&E- A BETH MAE - ABETH RB-JFeaH MR ERS
N B BEBQ) 5.98 (+1.8)|E+E HEHHEG) 5.95 (+1.5)[ P4t HR(3) 577 (+1.0)|# RE®) w5.66 (+2.6)[ HAR AFI(2) 5.62 (+1.8)|/\#k HBE() 5.34 (+1.3)| 2% IB#E(2) 5.30 (+1.0)|/\ K f2#(2) 5.19 (+0.5)
AT BBt TR-GR|MI&B-/\igP TR-GR|/NF&-FEH BAE-1ERS FAE-A<BEH ARE-ERH BB L BB JEZ MR
eatn | =em AR f2E(2) 11.69 (-2.6)[F0O HHEQ) 1161 H2)|E+E EHEO) 11.60 (+0.6)|E45 BE(H(3) 10.81 (+0.8)
B REZAF BB/ dip AR\ BAE-1ERS
T - EFIBNE3) 10.88 (M 2 (3) 847(%H HE(Q2) 8.46 (%3 BFIQ) 7.58(ILE #iAk2) 7.32| g #iK(2) 6.98( g ZEK(1) 6.85|8R1F EK(3) 5.90
BARE-/\iEH TR|FEAE- &R @8- AIL#H BB AIL#H INFB-RINFAP INFB-RINFAEP ARE-/\EH ARE-/\EH
ea1n | s ED RHEQ) 2149
BB TR
6H1H | 110m 15.85 (+0.4) [750]
6H1H [ fiatus 8.16 [376]
6H1A | AEmEbk 1.56 [434]
6H1H | 400m 55.25 [589]
s lenin | 100m KE Bath(1) 13.18 (-1.9)[AA BEMN(1) 13.36 (-1.9)| =45 —#8(1) 13.37 (-1.9)[B E£AM) 13.52 (-1.9)| E4F ERE(1) 13.56 (-1.9)|ME A1) 13.79 (-1.9)| F% EE() 13.90 (-1.9)[# K1) 13.99 (-1.9)
£B-/hdip MRE-<BEH BAE-ERS BB BEAE-/\iEHh INFBINFAFR BB JEZ MR AR mRP
sim | 1500m RIER SEA() 4:39.62|/MIl B 2k(1) 4:4584| K\ E8(1) 45032|H+E FEF) 4:50.92| %2 BARKZ(1) 4:54.45|/NE  EHR(1) 5:01.20|/NR 12(1) 5:07.00| €% HRME(1) 5:08.49
HAE-ERG TR-GR[/NF&-/NF&H TR-GR[/NF&-/NF & TR-GR[/NF&-/NF &S TR-GR|E A& iZR+ TR|AB - HZz&H BAE- K INF&-EP

w (wind assist) : IBJRZE

NM (No Mark)
TR : 3@f5E Hmos;




HH -1 2018/6/1 FHIR R E]
B =R R RSy
X2 24 + Ay TR ALk TP R
TS [T - fE T - B AE AR T R B fethh 4 faipikE L s
Bf | %A 1hL 20L 30z 4L 5{if 6L ThE 8L
st s enin | 100m #A NEQ) 1329 (-2.2)[;ERE EHZE®Q) 13.34 (-2.2)|BE LVH3EEQ) 13.36 (-2.2)|E BEEQ) 13.49 (-2.2)[ LA K@) 13.68 (-2.2)| Il TEH(2) 1371 (-2.2) |45 BHZR@Q) 13.88 (-2.2)[ &)1l FH®Q) 13.92 (-2.2)
BB ERS TR|EAE- R TRI/NF&-INFBH TR|EAE- R TR|F#&E ERF AB-JE2AH AT Fmenh AF- /M
shatr | 200m #0O IMEQ) w26.32 (+3.0)[ZEE L\AEE(®3) w26.66 (+3.0)[ LM BA5E) w26.67 (+3.0)| = FIE(3) w26.68 (+3.0)[ LA 3F{K(Q3) w27.48 (+3.0)|{£BE BBHE(1) w27.49 (+30)| 2 H#5(3) w27.61 (+3.0)[#2E 2(2) w28.25 (+3.0)
BB ERS TR{/INFB-INF B TR|F#E ERF TR|F#E ERF TR|F#&E ERF TR|FA#E- /N BEF TR|&E- /M TR|E&E- K+
satr | soom R HMYE) 2:23.17|B8 %Z=(3) 2:25.76|F0EA  #HMA2) 2:27.08|/Mk BEFI(2) 2:30.74|FER Z1EQ) 2:31.49|HMA BHEEQ) 2:33.82| LA =E3K(2) 2:34.14| BB EKEQ) 2:34.55
INFBNFHF TR-GR[/NF&-FH TR-GR[/NF& /N F&H TRI/MF&-FEH A ABETH INFHNFAFH INFHNFAFH BB L
satr | 1500m R HHMYQ) 4:4503|EF FHREO) 4:54.98|F1E £41A(2) 4:56.27|/ kB EFI(2) 459.89|FR Z1EQ) 5:04.72| BE EK(EQ) 5:09.47| LA SE3K(2) 5:00.48|BET HEDH() 5:09.71
INFBNFAF TR-GR[/NF&-/NF&H TR{/NF&B - INFAF TRI/MF&-FEH TR(FEAE AN RETH TR(&B LHH TR[/NF&B - INFAF TR(&B- /N TR
ea1n | 1oomm & BWEREG) 15.76 (+0.8)| 2% FE(2) 16.13 (+0.8)[ILA KA (2) 16.28 (+0.8)[ &)1l F£3EQ) 16.68 (+0.8)[##3H £KA) 16.78 (+0.8)|#k#E Fi#(2) 17.41 (+0.8)[fEF EBHQ) 17.53 (+0.8) |/ FER(3) 17.57 (+0.8)
A mzas TR{/NF&-NF AP TR|FA#E ERF TR|&E- /i TR|FA#E- /< BEF TR|E&E - NBHEH BB K BAE-1&IRH
BB ERE 50.33|/NF & /NFAH 52.10|FafiB - < BHETH 53.36| B/ 5352| AR G2 AH 54.47| B -JE2 M 54.49 | AUE - KFN 55.32|/NF&-mH 58.88
EE BEQR) R 3B R FiH(2) hiE #%Q) ZH ¥EQ) LR 2%R@2) EH B2 B R FQ)
611 F | 4x100mR | 2F4K(E3) hE {HEEG) BH EREO) wiE BEFTFQ Ak H%EQ) FI TERQ) WE #(2) Ki#l FIFQ)
TR-GR TR-GR TR TR TR TR
B BEQ) E2H FEOQ Bis @) 2 H#HEO) 2 =EFE) LR BEEQ) ER EH0) B8 Rih(2)
#A NEQ) AHE LBHE®R) BiE UH0) BNl EEQ) £ BEREO) WA BEEQ B EXHQ B %ZQ)
eatn | EfE B F3) 146[RE FTH(2) 1.34|EF HEF®Q) 1.34| &0 FTRIE() 1.34|48 #VERE3) 1.34|B8 E#iQ3) 1.31(F8 K 1=(2) 1.25
INFB-EH TR[/NF&-INFAS INFB-BUNFAF BB IR A ERS BRB- K+ INFA-ETH
N g AR 455 (+0.5)|+H EA®) 4.43 (+1.3)|#Fi 1DTEQ) 436 (+2.0)|=H FE#Q) 431 (+1.3)| =& T HNEQ) 4.22 (+1.0)| T4 FEHEG) 417 (+1.9)|EE FHQ) 4.08 (0.0)|ILE £ A2 3.98 (0.0)
INFBINFAHR FAE-1ERS INFB-RINFAP BAE-1ERS BAE-EIRS INFBINFAF @8- AL AR mRP
eatn | s IR 2 9.25(#H #HEFQ) 9.13|#HE BI(2) 9.05|BIR EHi(2) 842(hIl FEF(Q2) 806(ME FEQ) 177\ R¥E BAE(Q2) 7561k EB() 751
B EZAF BB AL#H BB /hip BB YR 2N AR ARE-/\EH INFBINFAF ARE-/\EH
sA1n | s FE {HHE) 2414|7&R #(2) 1754|753 FIRTEER) 821
INFBNFBF TR|&B-EZWF b Ve RN
6A1H | 100mH 15.49 (+0.5) [778] 17.98 (+0.5) [491] 20.03 (+0.5) [300]
6H1H | Ambk 1.46 [577] 1.28 [389] NM [0]
6H1H | fiatik 7.81 [387] 9.08 [469] 5.62 [247]
6/ 1F | 200m w27.48 (+3.1) [672] w31.14 (+3.1) [405) w 33.34 (+3.1) [274]
veses lenin | 100m &k BiE0) 13.74 (-2.2) ik BRTE(1) 1419 (-2.2)[/NEIL FiR®) 14.45 (-2.2)|8EE fEH01) 1453 (-2.2)[#H# F201) 14.63 (-2.2)| Bi& maAE(1) 14.72 (-2.2)|f£BE XTa(1) 14.84 (-2.2)| 523 BIE(1) 15.02 (-2.2)
MRE-}<BEH TR-GR|&B-Hz B TR|EAE-ABHETH BARE- K4 B IR INFBINFAFR INFBINFAF ARE- KiH
sa1n | soom wiRn EER) 2:29.10|B4ED HFED() 2:34.26| =R AULME(T) 2:39.38|F&E CIZB((1) 2:43.16|#3 BF(1) 2:43.67|/ME B (1) 2:44.05|2803F BE(1) 2:45.46| R PEQ1) 2:47.14
MRE-<BEH TR-GR| B /Iieh BRE-<BEH BEAE-ERS B ARE ERG AR HRP ARE- K+

w (wind assist) : iE
NM (No Mark) :




